[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

.................................................

................................................

................................................

................................................

%

1.0

Ratio

o
L e
H
ki
+
T
n
+
+
+
L
+

+|

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew6_step2_ttbar-phasel-newgeom

~0.05¢ : : : : :
9.045F -t froe e et RN
o E : : : : :
L R O S R SIS
> E : : : : :
D.035F -
O :
£0.03F---+
[J] = .
0.025f -+

0.025 -
0.015F -

0.01 -+
OXJo-ISRRRR N 1 . STRRRE SURPCR | % N
5 O..hm'w*..
g bt R R
a4 F

0.9F--------

°%35 =30 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

....................................

....................................

...................................

o O i
5 L1
S -
%686 4 2 0 2 4 6 8 10

Sim. PV z (cm)



	Contents
	Page 1


